
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

5.601 × ________ = 56.01 8.447 × ________ = 844.7

3.568 × ________ = 35.68 8.397 × ________ = 83.97

10.335 × ________ = 10335 10.019 × ________ = 100.19

7.859 × ________ = 78.59 7.325 × ________ = 7325

5.508 × ________ = 5508 2.168 × ________ = 21.68

2.045 × ________ = 20.45 4.006 × ________ = 400.6

5.539 × ________ = 553.9 7.169 × ________ = 716.9

7.962 × ________ = 7962 9.529 × ________ = 9529

7.514 × ________ = 7514 6.08 × ________ = 60.8

6.723 × ________ = 67.23 10.766 × ________ = 10766
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

5.601 × 10 = 56.01 8.447 × 100 = 844.7

3.568 × 10 = 35.68 8.397 × 10 = 83.97

10.335 × 1000 = 10335 10.019 × 10 = 100.19

7.859 × 10 = 78.59 7.325 × 1000 = 7325

5.508 × 1000 = 5508 2.168 × 10 = 21.68

2.045 × 10 = 20.45 4.006 × 100 = 400.6

5.539 × 100 = 553.9 7.169 × 100 = 716.9

7.962 × 1000 = 7962 9.529 × 1000 = 9529

7.514 × 1000 = 7514 6.08 × 10 = 60.8

6.723 × 10 = 67.23 10.766 × 1000 = 10766
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